ﬂ 0 % J ‘b Phép nhan cac da thirc

Tén:_ Ngaythang:_ Piém:__
(x— 8)(4x* — 2x— 2) (3x— 1)(8x — 3)
(2x+ 1)(8* — 5x— 5) 6+ 72 (2x—7)
3+ 5x)2x+ 1) (5-3x)(7x +2)
(7x + 5)(4x— 5) (8— 9 (2x—2)
(4— 4 (5x + 6) (6x + 8)(7x — 6)
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ﬂ 0 % J ‘b Phép nhan cac da thirc

Tén: Ngay thang: Piém:

(x — 8)(4x% — 2x — 2) (3x— 1)(8x— 3)

A — 3452 + 14x + 16 24x> — 17x + 3

(2x+ 1)(8x* — 5x— 5) 6+ 77 2x—7)
16X —2x* —15x— 5 14x° — 49x% + 12x — 42

3+ 5x)(2x + 1) (5 3x)(7x +2)
10x° + 1lx+3 —21x” + 29x + 10

(7x + 5)(4x — 5) (8— 9 (2x—2)

28x% — 15x — 25 —18%° + 18x% + 16x— 16

(4— 47 (5x + 6) (6x+ 8)(7x — 6)
—20x° — 24x% + 20x + 24 42x% + 20x — 48
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